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N2 —=2 : A=> B=> C— E= F
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1 X (1500m A% — F)= 2 JE+300m=> A LY JFEF=—A~

IX | 3.02k | A=> B= (= D= E= F=> F#rO~ RKa—RA

21X | 1.65k | FHkFTO=> A= B> C=> E=> F=> HkTO~ /ha—2A F=HfEAT@O~1%, Wk

3X | 1.65k | HikFT@= A= B> (= E= F=> HfkgrO~ ha— 2 AT @=A ~1%, Wik

41X | 1.65k | HfFTO= A= B= C= E= F= FfFTO~ /ha—2A F=HfEAT@~1%, Wk

5X | 2.13k | FHtF@= A=B=C=2D=2E=2F=>d— L~ (Hi) Ka—2R THEAT@=A ~1, Wi
Hr 222 - (9. 07 k) 1 X (100m A% — k)= 1/E+100m= A XY EE=z—2~

1X | 2.42k A= B> (= D> B> F=> kO~ Ka—2R

21X | 1.65k | FHkFTO=> A= B> C=> E=> F=> HkTO~ /ha—2A F=HfkeT @~1%, #E

3X | 1.65k | HikFT@= A= B> (= E= F=> HflkgrO~ ha— 2 AT @=A ~1%, Wik

41X | 1.65k | Hf#FTO= A= B= C= E= F= FfFTO~ /ha—2A F=HfkeT @~1%, #E

5X | .70k | FHET@=A=B=C=2E=>F= I — L~ (HiE) /ha—2R kAT @=A ~1%. Wit
/N (8,44 k) 1 X (1500m A ¥ — k) = 300m=> A XY JEEz—R~

I1X | 1.79k A= B> (> E=> F=> Hf{tprO~ /ha—2A

2X | 1.65k | FfkpTO=> A= B> C=> E= F=> HfkTO~ /ha—2 | FoHkET @~ Wk

3K | 1.656k | H#Fr@©= A= B> C= E=> F= H#§kprO~ ha—2 HFARFT@=A ~1%, Wik

41X | 1.65k | Ff#FTO= A= B= C= E= F= FfHFTO~ /ha—2 | FoHkET @~ Wk

5X | 1.70k | FHEFF@=A=2B=2C=2E=2F> I — /L~ (Hif) /N — A AT @=A ~1, Wi




